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Note: Attempt questions from each section as per
instructions given. '
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SECTION A
Answer any two questions from this section. 2x10=20

1. A revenue maximizing monopolist requires a
profit of 1500. Her demand and cost functions
are P = 304 - 2Q and C = 500 + 4Q + 8Q7.
(a) Determine her output and price.

(b) Contrast these values with those that would
be achieved under profit maximization.
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2. Given the input matrix of three industries and
final demand vector as

005 025 034 1800
A=/033 010 012{;D =200
019 038 000 900

(a) Write down the specific iriput—output matrix
equation for this model.

(b) Solve for the gross output levels of the three

industries.

3. Determine the eigenvalues and eigenvectors of

5 4
the matrix A = .
1 2

4. Consider the production function Y = AL* K5,

(a) Find the average productivity of labour as a
function of L.

(b) Show that the marginal productivity is
proportional to average productivity.
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SECTIONB

Answer any three questions from this section. 3Ix7=21
5. Solve the difference equation

Y,=5Y,_; +1(where Yo = 1.

3 1
6. Find the inverse of the matrix I: : ] .
2 5

7. The supply function of a good is given by
x = afp-b, where a and b are positive

constants and p > b. If p = 2b, find the elasticity
of supply.

8. A consumer is represented by a utility function
U = 3x%3. If P, = 2 and P = 3, find his demand

for x and y. His income is given to be M = 15.

9. Use Cramer’s Rule to solve the following_
simultaneous equations :

X+2y+3z=17
3x+2y+z=11
x-by+z=-5
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Answer any three questions from this section.

10.

11.

12.

13. Compute the determinant |4 0 - 1/.

SECTION C

Solve gx—y - 8y = — 25, where y(0) = 6.

Find the maxima and minima of

flx) =x3 - 5x2 - 13x + 9.
(a) Find gx—y fory = x2 + t2 when

X

t= atx=0.

1+x2

X

5x e2x 3
(b) Integrate e”*| — + = |.
7 e

8 1 3

6 0 3
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e : IAF 9T 8 RIFER F¥7 F IR T |

W &
27 YT @ f5-d1 @ Yol & Iw o | 2x10=20

1. @Waﬁmﬁwmﬁm@mﬁwm
F1 A IR B | IGH T 9UT AN Bl &

P = 304 - 2Q @47 C = 500 + 4Q + 8Q>.

(%) IHb IR TR qY e F1d HIRT |

(@) ¥ gl 3 qedt & gorn R S 9T g
IR THIRR] AT 1 ATerehaeientr &d |

EEC-05 5 P.T.O.



2.

-

afe 7 3 @ Wi o gy o sifw
min wiew faan mn @

0-05 0-25 0-34 1800

A=]033 010 012:D =] 200
019 038 000 900

(%) W@ fedl *1 srm@Ieg aegE g
fafigu | |

(@) i IANT F bt I TR g HIRAT |

i ZJ am' JAMFHHE e

ArgEte F@ H |

I e Y = AL® KP W faam #ifSo |

(%) sm & ANwq ewrfear B L & wew & w9 A
I i |

(@) feanu f& dma scnRar ofwa safear &
WHWI’E‘EF (proportional) 2
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LRG|

2T YT @ fa-g] i 91 & I G | 3x7=21

5. aimatﬁth=5Yt_1+1(aﬁYo=%%)w
g faemiferu |

3 17

]wsgc—ﬂs‘rmﬁﬁm
2 5

6 anag[

7. fh g ®1 qff o R MR x = afp-b,
& a a1 b R & N ITH T YA § A 3,
3ﬁIp>b.‘ﬁp=2b,?ﬁ‘ﬂﬁﬁFﬁ'ﬂ’ﬂlﬁWl

8. frdft Suvitet &1 TR BeH B U = 3x%y°. I
Px=2a*a11>y=3,sawﬁm£rxwy£rnﬁ

1 ifre | fean e @ T SEehl 3 g M = 15.

9. *W & fam + sEm w@ g Fefafgs gmq
(simultaneous) qHIHT T ﬁﬂ%‘! :

X+2y+3z=17
Ix+2y+z=11
x-by+z=-5
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kIR

39 417 @ [T &7 3o & 3¢ v | 3x3=9
10. & Hifdm %-537:—25, & y(0) = 6.

11. BeF flx) = x° — 5x% — 13x + 9 & IS a1
fferse s fifse

12, (a) y=x2+t2a§ ferw %xz & i, =

X

t= '&ﬁ,x:OtRI

1+ x2

2x 3

(b) e5x{e7 + —X} &1 THTReA HifvT |
e

8 1 3
13. R (4 0 1| o 9ReeH Hifd |
6 0 3
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